
 

 

 

 実施日     月     日 

 

1.次の数の逆数を答えましょう。 

 

(1) 
２

５
    (2) 0.7   (3) －2   (4) −

４

３
   (5) －1.2   (6) −

１

３
  

 
５

２
     → 

７

１０
   → －

２

１
      −

３

４
   → －

１２

１０
 →－

６

５
  → －

３

１
 

       ＝ 
１０

７
    = −

１

２
           = －

５

６
      ＝ －

１

３
 

 

2.次の計算をしましょう。 

 

(1) －30÷5 

=－6 

(4) 
１

５
 ÷ 2 

= 
１

５
×

１

２
 

= 
１

１０
 

(7) 42 ÷ ( －
６

７
 ) 

= −(
４２

１
×

７

６
 ) 

= －49 

(10) －
７

３
 ÷ 0.6 

= − ( 
７

３
 ×  

１０

６
 ) 

= −
３５

９
 

 

 

(2) 24÷(－2) 

= －12 

(5) −
３

２
 ÷ 6 

= −( 
３

２
 ×  

１

６
 )  

= －
１

４
 

(8) －
２

５
 ÷ (−

８

１５
)  

= 
２

５
×

１５

８
 

= 
３

４
 

(11) 7 ÷ 21 

= 
７

１
×

１

２１
 

= 
１

３
 

 

 

(3) －18÷(－3) 

= 6 

(6) －12 ÷(－ 
３

８
) 

= 
１２

１
×

８

３
 

= 32 

 

(9) 0.7÷ ( －
１１

１５
 ) 

= −( 
７

１０
 ×  

１５

１１
 ) 

= －
２１

２２
 

(12) －0.6 ÷ 0.9 

= − ( 
６

１０
 ×  

１０

９
 ) 

= −
２

３
 

 


